Correlations

0.7

10.04

LT - r----rr---rxrr-" -1 17 o
[ (a) (cos[2V, + 3W3 — 5Ws]) T (b) (cos[8W;—3W;—5Ws]) :
0.6 T 10.02
0.5 4 ]
T 10.00
0.4F <A 5 :
: F ~0.02
0.3F O Data o 4 ]
i & EKRT+hydrodynamics | |
0.2F s == TRENTO =y 1—0.04
[ === TRENTo+iEBE-VISHNU 1
()':I--_i::::l::::I::::{::::I_-_E::::I::::I::::{::::I__O'O6
0.10 :—(c) (cos[9V3 — 4W, — 5Ws]) —_ (d) (cos[3W;—8W, +5Vs]) 0.2
- ALICE 1
0.05 - Pb—Pb ysyn = 5.02 TeV B
H Inl<0.8 ] '
0[] SEIUTTCTIRIRIY AR TO IR .__:
I b I
~0.05f 1
—0.10|- = _
: [ SR RN RN B B R R R S 1]
0 15 30 45 60 O 15 30 45 60

Centrality percentile



